C. Plane

D. Point

3. Pick the odd one
A.Yard

B. Litre

C. Metre

D. Inch

4. Who has been el

1/
N

-
€, ﬁ{]@m} |

D. USA
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6. Special education programmes is associated with

A, Visual Impairment
8. Mentally retarded
C.Botha &b
D. None is correct
7 The term Mnemonics is associated with
A.Memory
B. Human Heart
C. Blood Circulation
D. Kidney
8. The focal point of Triangular process of teaching
A. Teaching Method
B. Teacher
C. Books
D. Content
9. Who is called father of educational psychology?
A. Dewey
B. Herbart
C. Russo

D. Russel

10. In the phrase “Operation blackboard” the blackboard symbolises

A. Teacher

B. Education

C. Class

D. student

11. What is informal education?
A. Education imparted by school
B. Education imparted by teacher
C. Education imparted by books

D. Education imparted by community
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13. United Nations General
allin the month of

A. December 2010
B. December 2011

Assembly declared 2012 the International Year of Sustainable Energy for

C. December 2009
D. December 2008

14. The surface area of a spherical part of a hemispherical bowl with a flat circular detachable cover,
excluding the cover is 616 9. The area of the cover is 38.5 Sq. What is the volume of the bow!?

A. 1330 Cm cube
B. 1570 cm cube | '
C. 1680 cm cube

D. None is correct

15. In a certain code ¥ TEAMWORK ‘is written as NBFUJONV and SOME is written as PTDL How s

PERSON written in that code? A B C 5 ¢ P a1
A. QDOORT I K L M N o Pa
B. SFQMNR As:ruvwx‘z
C. SFQOPT
D. QDOMNR (r et B e
16, Ravi sold an item for Rs 6384 and incurred a loss of 30%. At what price should he sold the item to’ ,.)
have gained profit of 30%

A. 12156

B. 11856

C. 12900 : G : %
D. 14000 Q P

3'5'/ :

-
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‘
s ¢ a rectangle is equakto the area of @ circle with circumference equal to 39.6 metres,
.Theareaofa qualto the.a

) : ?
What is the length of the rectangle, if its breadth is 4.5 metres

A.27.72 metres lvyv.az s

B. 20.15 metres

C. 20.72 metres L 7{4 = 2 /L
-~ < rg 0)
D. 24.00 metres K
18. Which of the following is an economic term? \/!/ f

A. Bunker —
B. Plantiff Yy ) 296
7 A

C. Lampoon
D. Deflation
19. What should come in place of question mark w
111419 28 437 \”d(
A. 60

AL
B. 64 0l L

C.66 \

D. 76 '@

20. What should be the measure of the diagonal of a square in Sq Cm whose area is equal to 882 Sq

cm
A.42
B. 45
C. 48
D352

21. The average weight of 21 boys was recorded as 64 kgs. If the weight of the teacher was added,
the average weight increased by one kg. What was the teacher weight?

A.67
B. 86 ' % £
o R T

D. 87 2,3/ 7/$ Ve

,/’L
= ek
Afd,,/ﬁg G % (a
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22. Mark Zuckerberg is the founder of
A. Facebook

B. Google
C. Microsoft

D. Wiki Leaks

23. A 280 metre train crosses a platform thrice its length in 6 minutes and 40 seconds. What is the
speed of the train? ] L% 5

2€9
A. 3.3 m/sec ‘?)Z
B. 2.8 m/ %
W2 sec

e
C.4.5 m/sec //b ; }’(

2L -
D. 4.0 m/sec e (=5 '

- iy
24. The world day for water is ! ol lﬁ

A. March 22 |
B. May 22
C.June 22
D. August 22

25. Who said Education follows social change?
A. Durkheim
B. Ottaway
C. John Dewey

D. Johnson

26. ISRO Launches GSAT-29 successfully on

A. Sept,14,2018
B. October,14,2018
C. Nov.,14,2018
D. DEC.14,2018
27. Horse is related to Mare as Bull is related to
A Meat
B Cow
€ Stable
D. Noneis correct 5

SETD
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2nd largest Smart Phone market in the world

28.
A. India
B. Germany
C. USA
» D. China
59.  Governor of J&K Dissolve the legislative assembly by using powers conferred upon him is
A. Section 55 Subsection 2
B. Section 54 Subsection 2
G Section 52 Subsection 2
D. Section 53 Subsection 2
30. Prime Minister Modi key aspects of MSME Scheme/project is
| A Access to credit
B. Access to market
C. Technology upgradation
D. All of them
31. In certain code GARIMA is written as 725432 and TINA as 6482. How is MARTINA written in
that code? QG(’)j)ré:ﬂqf‘IfIK
A. 7284563 LM N P RECRTEEY
B. 2846523 Ol =
© 3256482 ,
D. 3654827 3 k. S/ g
32. Which Ministry introduced and launches ‘Institutions Innovation ‘Council Programme
A. MHRD
B. Home Ministry
C. Defence Ministry
D. External Affairs Ministry
33. Defence Minister launches ‘Mission Raksha Gyan Shakti ‘on
A October 27,2018
B. November 27,2018
(€] December 27,2018
D. January 27,2019 \
M-16/SET D 7
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34,

Who inaugurated recently Kartarpur corridor

A. PM Pakistan
B. PM India
G PM Afghanistan
D. None is correct
35, Which agency provided US $ 13 Million loan to India
A. World Health Organisation
B. Asian Development Bank
C. World Bank
D. ICICI
36. Who initiates to setup digital Public Credit Registry?
A. CBI
B. Finance Ministry
C. RBI
D. Home Ministry
37. Which word cannot be made from the letters given EI'}‘NOG&APWC 2
A. EARTH
B. GARMENT
C. HEART
D. None is correct . e
38. The 26th meeting of General Conference on Weights and Me
A. France
B. Germany
(c South Korea
D. Russta ] + 25 been included in BBCs 100 b3est foreign films list?
-5 Which of the only Indian Film that has
A. The Big City
B. Heer Ranjha
iC. The World of Apu
D. pather Panchali
8
M-16/SET D
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he rank of Rama is 26 out of 42 students in a class and Samira is 8 places ahead of Rama.
40.  Theran
What is the rank of Samira from the last-place?

Aol ' W) 7 j
B s By 2 16(; /‘ el

O 26

D. 29

41. The first model of communication is developed by
A Aristotle

B. Plato

C. Steiner

D. Oracle

42. The best way to achieve success in life is
A.To be politically sound
B. To be well educated
C. To be rich and prosperous
D. To be sincere and hardworking
43. Which term is related to data base?
A. Assembly
- B. Oracle
C. PHI
D. Java
44. The World Sustainable Development Summit was held in
-~ A. UK
B. India
C. USA
D. Japan
45. Which of the following subjects were transferred from state to Concurrent list through
42nd amendment 1976
. A. Education
B. Forest
C. Both Aand B

D. Agriculture
M-16/SET D 9
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46. Foucault éxperiment is the proof of the

A. Rotation of the earth
B. Revolution of the moon
C. Rotation of the Sun

D. None is correct

47. Recombination of pNA Technology allows genes to transferred

1. From Animals to Plants
2. Across different species of plants
3. From microorganism to higher organism
A.1,2,3
B.1and 2
C.2and3
D. None is correct
48. Complete the analogies
Life: Autobiography: Witness: ?
A. Truth
B. Document
C. Papers
D. Acceptance -
49. E-Shakti project is launched by
A. UNESCO
B. NABARD
C. SEBI
.D. MHRD
50. Which letter group differ from the rest
. A. Judge
B. Scant
C. Flush

D. Crowd

10
M-16/SET D
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51, A teacher should

A. remain reasonably close in the class

B. be strict all the time
C. be all the time snarling
D. None is correct

52. Creativity writing should be an activity planned for

A. Children who have good writing skills
B. All Children’s

C. Children who are at spoken skills

D. None is correct

53. Learning by doing is based on

A. Psychological Principle

B. Educational Technical Principle

C. Philosophical principle

D. None is Correct

54. Who among the following is an existentialist thinker?

A. Sartre

- B. Rousseau
C. Froebel
D. Kilpatrick

55. Which amo
ng the following is the most unrellable predictor of a child’s performance at school?

=

A. Class practices =
4 B. Ethnicit/y/

C. Horﬁe Environment

D. Self-Concepts -

56. The head quarter of NCT

el Eisin
A. Delhi e
N
B. Jaipur
C. Pune

D. Aurangabad

M-16/SET D
11
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One of the four numbers given below is different fro

57. VEC under SSA Scheme stands for
A. Village Economic Council
B. Village Environment Committee
C. Village Education Committee
D. Village Enabling Council

58. Special Schools are required for equality of educational opportunities among

A. Physically Challenged Students
B. Backward Students
C. Talented Students
D. SC/ST Students
59. In India best education is provided by
A. Government Schools
B. Public Schools
C. Aided Schools
D. All of them
60. If a student asks ridiculous question, what the teacher is to do
A. Warn him not to repeat
B. Try to explain and convince him
C. snubs him
D. Ask him to leave the class

61. The most effective mode of learning is
A. Self-Study

B. E-Learning

. Blended Learning

D. F ace to face learning

m the other three. Find that number
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63. If B is the husband of A, A'is daughter of
Ais related to E?

D, D is the husband of Cand E i: the father of B. How i

A. Daughter in law

B. Daughter

C. Sister

D. Niece

64. Which of the following words cannot be formed from the letters of the word
COMPYTERS?

A. SPORT

B. SHOUT

C. STORE

D. MOUSE

65. Introducing a woman, a man said ‘Her mother is the only daughter of my mother in laws. What
is the man’s relation to the woman?

A. Son

B. brother

C. Father

D. Uncle

66. The statement ‘If X IS divisible by 8, then it is divisible by 6°IS FALSE IF x is equals
A.6

B. 48

C.14

D. 32

67.In a class of 50 students, 18 take music,26 arts and 2 take both art and music. How many
students in the class are not enrolled in either music or art?

A.8
R MRS DA

G 16 A;g/ // /Lé
D. 22 % 2

M-16/SET D 13 y .'
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68. Find the odd one out

A. campaign

B. Cruise

C. Expedition

D. Crusade

69. M K Gandhi’s contribution to education js
A. Integral Education

B. Education for man making
(2 Basic Education
D.

Education for International Understanding

70. Which figure fits in question mark

BIRNEPE

stion mark?

que
laces the

Which number rep 10
4

14
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on mark
72. Which number replaces the questi

P
e
ehe auestian

-
vl

Fraess e e

e
(7 [ 3
5|8 |2

o[6[4]|7

A 1

8 R

C 3

b,

Questions 73 to 75 is based on the following reading passage

: é int that
Many critics of Emily Bronte’s novel Wuthering Heights see its second pf—lrt as a' Cour1tel"pOS i
comments on. If it does not reverse, the first part, where a romantic read.lng' rec;:lve e
confirmation. Seeing the two parts as a whole is encouraged by the novels sophisticated structure,

revealed in its complex use of narrators and time shifts.

Granted that the presence of these elements need not argue for an authorial awareness of novelistic
construction comparable to that of Henry James, their presence does encourage attempts to unify
the novels heterogeneous parts. However, any interpretation that seeks to unify all of the novels
diverse elements is bound to be somewhat unconvincing. This is not because such an interpretation
necessarily stiffens into a thesis byt because Wuthering Heights has recalcitrant elements of
undeniable power that ultimately, resist inclusion in an all—encompassing interpretation. IN this

respect, Wuthering Heights shares a feature of Hamlet

parts of Wuthering Heights

A. The second part has received more attention from critics

B. The second part provides less substantiation for 3 romantic reading
C. The second partis better because it is more realistic

D. The second part has little relation to the first part.

structure

D. None js correct

M-16/SET D e
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ction is best
75. Which of the following inferences about Henry James awareness of novelistic constru

supported by the passage
A.James awareness of novelistic construction derived from his reading of Bronte

B.James was very aware of the details of novelistic construction
C.BothAand b is correct

D. James awareness of novelistic construction precluded him from violating the unity of his novels
76. Which of the following is not a condition for creativity?

A. Correctness

B. Rationality

C. Non Rationality

D. Openness to experience

77. DIET Stands for

A District Institute of Elementary Training

B. District Institute of Elementary Teachers

C; District Institute of Educational Technology
D. District Institute of Education and Training

78. Which among the following is best described ‘The Sum Total of a child’s experience ‘in school?

A. Syllabi of various courses

B. Curriculum

C. Life Skills Programme

D. Cultural and sports events
79. Refresher Courses for teacher education in secondary level are conducted by

A HRDC
B NCTE

D. UGC
‘ e of education(SSA) AIMS at

:‘:' The National flagship programm
\, Special Secondary Academic Programmes

pecial Education in primary Schools

B | ion
Universalisation of Elementary Educat

H n‘__,,‘, BFSY)
alisation of Secqqd‘ary Educatio

16
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i ted everyy
81. International Literacy Day is celebra

A. Match 8
/B./April 8
C. May 8
D. June 8 ity assurance of special education in India?
82. Which agency is responsible for quality a
A. NCERT
B. RCI
- NCTE
D. UGC
83. Distance Education is not
A. Telemetric Teaching
\/B(Work oriented Education
C. De-Schooling
« D. Distance Study
84. The chief responsibility of the principle is to
A. Keep school records
B. Provide leadership in the institutional programme

C. Listen to learners and parental criticism

D. Organise and administer the guidance programme

85. Who advocated human relation approach?

A. Davis

B. Taylor
C. Elton Mayo
~—D. Gagne

86. The purpose of “Operation Blackboard “was

«—*. Making Teaching effective

B. Result oriented Education

C. Teacher Accountability

D. Improvement in school Infrastructure

-

M-16/SET D 17
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iced i lays emphasis on
87. The National policy on Education adopted in 1986 and serviced in 1990-92 lays emp
A. Social development

B. Human resource development
C. Economic Development

D. All of them

88. The students learns better when they
A. Interact with the teacher
B. they are disciplined

C. Likes teacher

\ D. None is correct

89. The School Curriculum should be planned to agree with

A. Books availability in different subjects

B. College entrance test priority

C. Training and interest of the teachers

D. The goals, purposes and interest of the learners
90. The ideal number of students in a class is

A.10-15
B. 10-30
C. 10-40

D. 10-50

91. The qualities of a teacher that impress the students

A. Knowledge
B, Personality
" C. Communication

D. All is correct
A Very talented Students

Jaughty students
 good in studies

18
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93. Chain Learning is connected with

A. Tolman
B. Rousseau
.C. Thorndike

D. Gagne
94, The quality of teacher education in India is the responsibility of

\A. NCTE
B. AICTE
C. NCERT
D. CBSE

95. School Education is related to
A. NCERT
B. NCTE
C. CBSE
D. AICTE
96. The formal education includes
A. Students
B. Teacher
C. Curriculum
-D. All of them
97. Who gave the concept of Kindergarten.
-A. Herbart
B. Plato
C. Froebel
D. Mahatma Gandhi
98. Herbart is related to
A. Educational technology
.B. Educational Psychology
C. Educational Philosophy

D. Nene is Correct

M-16/SET D i
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100. Montessori system of education is based on
A. Freedom to play
B. Freedom to express his interest

C.BothA&B

D. Freedom to thinking

2
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